/00 ot0 . O FR v

ASistm/5 g =
/5" be. 2% 36 pasrsts ‘3 20, s

36 " &
g—M and 5 000

A‘S\“" U"/él

'3 IQ =)\ Spos. '3

$)0% ‘

B G &
6

"

3o, T3y

2 * o
SV " qp3 ™



/é"
_ ‘}J
m Mo
n, 0010
- ;Z}O o000
A .
(e

- PAPer
e
ey
AL
T™
Lén
Se
Asi




Fmv  1SQoco

st
/ﬂ S‘g-m O/6 70000 |

'a e,
SV - US |, 2650 WV

2,000 - /9
ok oo

S5oo - o

e

a» | b 2807
@ ..«0‘
* g {522m]
= °®
et VOI[om
|0,00 \e0d
| 100,000

Horeort




| DeeRS v
Frne 1% T TF

for-ect ofunt




(00,000 T /S000©



*/4’557’“\ cT Sl /_ %o

1990 wb - (eere - e Rrewn/
R - PorTe Names

199/ - WO - VorTw Henen

V) f99) CeETasr Lo A, —
/r / f Reor= 4 "@
YA

W&F}/$_

usoA\bs
WS
NTOF Yso® LS
Wfoeos Wb | ilkpaes — ) 2€ 000
¢().s.0/‘L
Recarvopece
ulolhove. (epy. Lee -  ISe o

Riee




D =
. G;f:ewf/te Lt T Ceans




Oioes S A0 5 (R
WS ee. pd L9000 5 w



Calculator Success
The Jim and Sally Example... Getting to 14%."..
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